YMHOXeHue
MHOrIo4sfieHa Ha
oaoHOuUNEeH




Llenb ypoka:

1 CgpopmMmmpoBaTb YyMeEHME
npeobpas3oBbLIBATL
npoun3BeneHne ogHouYreHa
Ha MHOro4sieH B MHOIOYNEH;

0 PelwuaTtb matematTmnyeckue
MoAdenun, Ncnonb3ys 3TO
YMEHMeE.



Cymma

0NOGHb OgHoureH
o OB

OOHOYNEH
bl

ne
oOHOYNEeH
OB

CBONCTBO

J
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BbINONHUTbL YMHOXEHMUe:
017x41 = x?);
J(@+4)e7;
1a%(4 — b?);
1-4a(a’ - 3);
09X(X —Y);
0-2xy(Xy — X +y)



JTanbl pelleHna 3agaym

1. CocTaBneHue
MO Ernu;

2. Pabota c
MaTemMmaTnyec-
KO MOAENbIO;

3. OTBeT Ha
BOMPOC
3agayu.




I'IpOBepKa MHOUWBUNAYAJIbHbIX

3agaHun
0 3agada 26.27 0 3agadva 26.30
0 8(Xx+8)+6x=232 0 xX(X+8)+25=(x+4)2x
0 xX=12 0X=25
0 OtBeT: 12 0 OtBeT: 5cm un 13 cwm.

netanemn.



CVHKBEeMH

1 CyLwiecTBUTENBHOE;
0 [NpunaratenbHble;
0 [naronsbl;

0 [NpennoxeHue,

0 CyLiecTBUTENBHOE — BbIBOA
(CMHOHUM).



